LO: To solve problems involving place value.
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Solve the riddles using the clues. You may like to use a set of 0-9 Number Cards to help you
before writing your answer in the boxes.

The number has 3 digits.
The ones digit is 21 less than 25.
The hundreds digit is an odd number which is bigger than 1 but smaller than 4.
The tens digit is the same as 2 + 3.
What is the number?

The number has 3 digits.
The tens digit is the number of fingers on 1 hand.
The hundreds digit is half the number of months in a year.
The ones digit is 8 - 1.
What is the number?
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1. What is the value of the 5 in these numbers?
532 935 250

2. Explain how you know.





